PEiE%1 (Stage 1):

f(S;, dy) + g*(So) % N
Sl dl f(Sln dl ) 80: T, 9*(50) - g*(T) - O g (Sl) dl
C, T 7 7+0 7 T
C, T 9 9+0 9 T
C; T 8 8+0 8 T
FE:E52 (Stage 2):
S | 6| s ) (8, &)+ 9 o) | o
1=d2
B, | C 2 2+9 11 C2
Cs 4 4+8
B, | C: 2 2+7 9 C1
Cs 3 3+8
B, | C 4 4+9
Cs 5 4+8 12 Cs
PEiEZ3 (Stage 3):
*
S; d; f(Ss, d3) Ak SS)—+dg ) g%(Ss) ds”
2— U3
A, | B: 4 4+11
B2 3 3+9 12 B2
A, B: 6 6+ 11
B2 5 5+9 14 B:
B3 8 8+12
A; | B2 5 5+9 14 B2
B3 3 3+12
P& E%4 (Stage 4):
*
Sl d | s d) 8 4+ 07 6 | de
3= d4
S A1 5 5+12 17 A1
Az 4 4+14
Az 4 4+ 14

S2AI2B:2>Ci>T




5 EZ1 (Stage 1):

g*(So) + (S, dy) N .
Sl d1 f(Sl1 dl) S,=S, g*(so) - g*(s) =0 g (Sl) ds
S A1 5 0+5 5 A1
A2 4 0+4 4 A2
Az 4 0+4 4 Az
PE;E2 (Stage 2):
*(S,) + f(S,, d *
S, | d | S d) e ) |
A, B1 4 5+4
B2 3 5+3 8 B2
A, B1 6 4+6
B2 5 4+5 9 --
B3 8 4+8
A, B2 5 4+5
B3 3 4+3 7 Bs
P E3 (Stage 3):
*(S,) + f(Ss, d -
S; ds f(Ss, d3) g 2%2: 323 o 0*(Ss) ds
Bl CZ 2 -
Cs 4 -
B, | C1 2 8+2 10 C1
Cs 3 8+3
B, C2 4 7+4 11 Cz
Cs 5 7+5
[ E%4 (Stage 4):
*(S;) + f(S,, d .
So | do | s, d) TG4 0*6) |
C, T 7 10+ 7 17 T
C, T 9 11+9 20 T
C, T 8 -- -- --

T>Ci2>B22>A1>S




